- 1. Explain the fc-].lowmg terms. (20%)
(1 Hashmg '

(2) Binary Search

2. 1f a circular queue 1s 1mplemented by an array q of size m, explain why the array ¢
1S permltted to hold at most m -1 elements (10%)

3. Describe the algorithm of the iterative inorder traversal of a binary tree and discuss
' !
its time complexity. (20%)

4. We are using heap sort to sort a list of » integers. Please describe how to obtain

the result from the original list step by step.  You do not have to show the program
but state each step as clearly as possible, (20%)
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